29010 TPl K R B #23k

© norelem

7= miiEA

M

BHETEMN 1.4308,

B 4L 8248 1SO 4762 MAARF 1SO 4032 , FEHEMH,
KF @30 mm HI<AIER 1SO 4017 , TEMH,

I
KRR AL IR,
BN

BN 30 M 40 mm WEZAEREHNVIRAER , BHIEAAREAR
SRS IR

BEEK
AT EENREM,

B
- A EMAFE 29050

www.norelem.com




29010 AW HIEBEE R

® 5 . E
-— - 7
1
| 1
| [
$ - = | |
= ! o |
; | s I I
O
M P . .
B
T ] (r\ \l
\J | 1
i ) . : [
] F
- \ | = T a
4 | () —
N ( 7] O g, !
S il B 2
16 —
\_ M
- A -
29010-112 A 12,1 57 27 25 35 | 50 - 38|37 |30 | 5 23 21 M6x18 40
29010-114 A 14,1 5,7 27 25 35|50 | - 38 (37| 30| 5 23 21 M6x18 40
29010-116 A 16,1 57 27 25 35 | 50 - 38|37 |30 | 5 23 21 M6x18 40
29010-118 A 18,1 5,7 27 25 35|50 - |38 3730 5 23 21 M6x18 40
29010-120 A 20,1 57 27 25 35 | 50 - 38 (37| 30| 5 23 21 M6x18 40
29010-130 B 30,1 7 39 37,4 48 | 60 | 40 | 40 | 50 | 60 | 7 45.5 41 M8x30 -
29010-140 B 40,17 9 51,7 49,4 63 | 80|60 | 60 | 60 | 80 | 10 52 48,7 M10x35 -

© norelem www.norelem.com




